n: What are the mtewals of cnncaﬁxlty and the mﬂectmn pmnts farthe funr:tmn
S@=1- 9x+ 62 -’ -

f"‘ o a) concave up (_m 2) v (2, ocj concave down ( 2 2) mﬂection pnmt at X= 2
o b) concave up (—cﬂl 5), concave down (1 5 oo) mﬂecnon pmnt at x = 2
L ol c) concave up (—m 2) concave down (2 co) mﬂecnun pmnt at x = 2
T

: d): cofncave up (—m,Z.S), concave down (2.5, m), mﬂectmn pmnt at x = 2

j(x) = xg”

C a) r:onr:amre up euerywhere no mﬂectmn pumt

o b} concave up (—e co), concave duwn (—m g}, mﬂectmn point atx- e
‘ af“‘ B

concave up (—cc: 2) concave down (- 2, oo) inflection pmnt at x = -2

e d). concave up ( 2, m) concave down (—oo 2) mﬂec’mnn point at x = -2

What are the intervals ofconcawty and the mﬂectmn pumts for the functlun
j(x) 2xt - 16x7 +3 :

aj concave up exferywhere no mﬂectmn pmnt

h) concave up (—m 0w (SH m) concave dnwn (D 843, inflection pmnt at x=10,8/3

€0

O d) concave up (-2, ), concave down (—m 2) inflection pumt atx=-2

. Questin_lj’: ;'._Wha_t are the. mt_s_gﬁmmshm cqu_awty and the mﬂ_e;_pan points for the functlv_o_n:

a) f j'(x) = x x2 *+a, then f(x) s concave up on (E:- 00)
b) 1f f(x) 6x - ?bx + 1 then f(x) 15 concave up on {5f6 mj
c) Jf f(x) —4x +1, then j(x) is concave up on (0 m)
Ay if Flx) =zt +6bxt +a, then J(x)is concave up on (—m &)

concave up (—eo,0) w (3, o), concave down {0, 3), mﬂecnon point at x= D 3
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